| can be done for the
i type of rescarch .
‘:’(\i'll::::ll;n YﬂPr problem related tO understanding

of difficult concepts in the class?
(A) Action research

(B) Fundamental rese
(C) Interaction analysis

D) Case study’ .
o B o @ i
: S ey S AR R
SraeTRoTai @ |

o T B forg o FEI T oy faar S
HaeT 87

(A) fpaT® ‘\’ﬁﬁll : v
(B) amuRA@ IWETH :

(C) ar=: fpar fager o

(D) B9 WS
What are
Questions™?
(A) Check

comparison _

(B) Apply principles of new situations

(C) Communication of ideas
(D) A1l of the above ' . !
e geAl @1 SR fe A
fraa wita &g fama w7

arch

the applications = of “Essay

‘person’s  ability to  make

(A)Wm%gwﬁﬁﬁWﬁﬁﬁ'

tq
(B) Rigidi &1 = aRRerfy # srgwaT |
© faRi & wuer ¥g 0
(D) SuRT

To increase the “Critical thinking" ﬁbili'tv among

students, which of the following teaching method
is most effective? .

(A) Project based teaching learning

(B) Lecture method

(C) Inductive-deductive method

(D) Lecture cum demonstration method

_gIgEe! 87

(A) groige JmeEnRa Rieor sty
(B) arer fafer

(C) amrA—frme fafdy

(D) e W8 WS fafy

/ou have realised that two students of your
em In classroom

class always create a probl

management. What efforts would

you?

(A) Ask them to go out of the class

(B) Give no attention on them

(C) Ask them to stand at the back
and punish them '

(D) Observe them continuously by
them small projects

T e H amar f S

Premeff iy & R wror wen TET

zﬁ%—rns‘arﬁﬁ%wrmmrmﬁmﬁ?

(A) S e ¥ aeY PR AT

(B)G—r[qqzﬁig'?mﬂ’gfﬁ

(C) e i 9 My ST HY Aol

(D)B-,%Eﬁ—g__gﬁggﬁzﬁu THY SAD Id
CERILE BCAsll

Find the wrong term of the following numbe

be made bY

in the clas:

assigning

Fer D T

series — .

' 325,259, 204, 160, 125, 105, 94
(A) 125 (B) 259
(C) 160 (D) 204

fopeg g Ao BT Terd Ug SiTd DItil —

. 325, 259, 204, 160, 125, 105, 94

(A) 125 (B) 259

(C) 160 (D) 204

P,Q, R, S, T and U are sitting in a row faci
North. R is sitting between P and T, S is no!
the end. Q is sitting immediate right to T, {
not at the right end. Then who is immedi
left of R? '

(AT (B) S

©)Q (D) p

P,Q,R, S, T3iR Uwﬁﬁaﬁws
] ferem
;za‘sméa\gq TIRPIR T
w%lsaﬁﬁnwmﬁé’i%l QT3
am?lm%‘.UﬂlﬁEﬁ?Wqﬁ%ﬁ



lone for the
: ¢ escarch can De ¢ :
Which type Ofl:lim related 10 understanding

solution of pro . o
of difficult concepts M the cla:

(A) Action research
‘ | rcsenrch

(B) Fundamentd :
(C) Interaction analysis

‘D’Cﬁfiéﬂﬁ & P W waford  @fe

:_]?;T\mmﬁ o e wa Fremall B gRd

ﬁﬁﬁa‘;ﬁmﬁ-ﬁqqﬂﬂ?ﬂﬂﬂﬁﬂmm

[ 87 .

(A) e T E

(B) @ HTEIE .

(C) s fpa fagere™.

(D) B S

What are the applications of “Essay

Questions™? ' - '

(A) Clieck person’s  ability to make
comparison

(B) Apply principles of new situations

(C) Communication of ideas '

(D) All of the above o
e v I B o1 B o kil
Fereh it &g faT Wi 87

(A)Wm%gmﬁﬁaﬁmaﬁmﬁﬂ'

eq _
(B) Rrzrdi o7 7 TRReIf 3 IrgurT
©) fremi & wwwor ¥
(D) SWraw Tl

To increase the “Critical thinking” ability among

students, which of the following teaching method
is most effective? : i

(A) Project based teaching learning

(B) Lecture method

(C) Inductive-deductive method

(D) Lecture cum demonstration method

'aa”aq\i W gilerAs A zﬁ‘[m oo mf
frafafad & o9 W A w99 e
qHTaeel] &7 '

(A) yrorge 3mRe e aiftem

(B) ey fafer

(C) amrE—frE fafey

(D) ey WE UaeH Ry

4

- @9

s of }"'”
HHL;;:)UI

made b

You have realised that two studen

class always create a problem in cl

management. What efforts would be

you?

(A) Ask them to go out of the class

(B) Give no attention on them

(C) Ask them to stand at the back i
and punish them

(D) Obscrve them continu
them small projects .

aues e i armar & ey DETT .?ﬁ

Qereli v @ forre BT e T

ferd e &1 Mg F DEH geTa?

(A) T el I aTeR B &

(B) 97 W ®1E e Tl <

(©) e 3 v Ay @sT By Aol <

(D) 9= BIe-BIE Hoae <HY SPI SRl

Find the wrong term of the following numt

n the cla

 aeejonil
ously by ass1<

series — ‘
' 325,259, 204, 160, 125, 105, 94

(A) 125 (B) 259

(C) 160 (D) 204

ey e Sofl B Teld U S difoTy

. 325, 259, 204, 160, 125, 105, 94

(A) 125 (B) 259
(C) 160 (D) 204
P,Q,R, S, T and U are sitting in a row fa
North. R is sitting between P and T, S is n
the end. Q is sitting immediate right to T,

not at the right end. Then who is imme
left of R?

©aQ . (D) p

P’Q.R’S’Taﬁ?qu‘ﬁ:ﬁﬁ .
e Ty i SR fom

g‘a—g ™ T W R, P T
1SR BN W T 2 Q7

waﬁqh%,Ufmﬁth yIT® ©

T AW SR e 8 W el &
(A) T ah

(D) p



Y

| the table. 9
llowing Pic-chart ant - Cycle? : B) Dormant
/‘i“| Sty :lllfu,l?]uz::l(ul based on them. - (A) Triggering ED; Start
Anm: e o a'lfn‘*f;l j‘}}‘ﬂil (C) Exccution arefrer
zﬁ%mﬁqmmﬂﬁﬂ“"“ﬂ,- = PR TH W dERH
[ whafee R
Moot b Lin:lll ﬁ"l (B) 5
e anurte | s (A) fer w=Te
B (D)
N EN - (C) Yarsrefer ation of the
e R 16. What is the result after L;Eia\ 5 and ‘c’ is
ﬁ_‘l 6 o0 following code if ‘a” is 10.
Taw | 1 | K 107
e o0 if ((a>b)&&(a<=c))
Tamul & [
| oPe | ~ a=a+l;
If the number of Kannada books in badw== else =
condition is 92, then total number of .English B qc——(i() 'C= 0 (B)a=11.¢=10
books in the library will be : QD (©) a=10.c=10 D) a=1l.c=1l
u&aﬁmwgﬁﬁﬂ%ﬂ@i%?f“h‘ - Pr=fefag B @ fFrares & are giRema @l
e % il L & raRw 0%,y 5 ReRC 10 F
gt — £ 00 if ((@>b)&&(a<=c))
() 4800 (B) 1600 — a=a+1;
(C) 4000 (D) 1200 | . J5e
3. If three threads are trying to share a. single AT
object at the same time which condition WIUCJ‘. B a =10 ¢ =1} B)a=11.c=10
arise in the scenario? , I‘I;: (€)a=10,c=10 D a=1l.c=11
(A) Time-lapse (B) Race Confjlm?_n 0 17 Which is the largest unit of storage among the _
(C) Recursion (D) Critical situation % “ following? ’
g 1 o T @ G H U G DT A STETOR (A) Kilobyte (B) Gigabyte
T T YR a1 W8, o 590 uRged A P (C) Terabyte (D) Megabyte
7
#rﬁe{mrfm:rgrrﬁ g ﬁmﬁﬂaﬁqﬁr@waﬁma—eﬁw
(A) ergs—otwy (B) X1 w1 &7
. o :
I ©) fofearar Rrgem > (A) Rieirarge (B) Mirarge
* Which of the following is not « system (C) W‘ T 3
- software? g 18 : . ©
(A) Database (B) PioE g % | 153 ;I::sq IE;(;I';‘:I]UIIIY used protocol for webpage
sof tware language ™ o (A) WML 8)
translators AF (C) HTTP D HTML
(C) Operating system (D) Utility programsg A Yoy = . ©) wrTp
ﬁmwaﬁquﬁﬂaw" S ‘mmmmﬁ“wm‘
5 Tl far s ey STeRpl &
(A) Sey 7o ey A
‘ (B)
(A) Sredy Q:ITEFE?RT\’ (B) Wﬂ Sy (WML) ?:?W
(O siffeT Rivew (D)?{%Faamm el
118B - X

‘ . g
I : -n Virus Life
/Z Which phase is not included 1N



19, Which of the following are correct stalements

with respect to XML?

(i) It is used to display data only.

(i) XML can be used as a databasce. -

(iii) XPATH is used to store the 1P address of
the server. .

(iv) XLL defination is used along with XML
to specify the links with other documents.

(A) Only (i1) and (iv)

(B) Only (i) and (i1)

(C) Only (ii). (iii) and (iv)

(D) Only (i), (ii) and (iii)

fr=ffad 4 ¥ B W XML & Hau # 98!

U 87 =k

(i) STHT ST B STeT (Wl B

Cfom o ST R g 0

(i) XML ®1 IUANT SEHd & AR W A .
fvar w1 w@aT € | :

(iii) XPATH &1 SUIIT ¥R & IP U949 TR
T 3 R W # |

(iv) XLL definition T SUIRT XML & G

Steetftad &3 & oy fpar s 81
(A) waa (i) ok Gv)
(B) maat (i) 3R (i) i : -
(C) @aa (i), (i) 3R (v) -
(D) Faat (i), (i) 3R (iii)
% In MS-PowerPoint we can run slide show
A from beginning using ............ key and from
current slide using ....... .. Key.
(A) F5, F7 (B) FF7, Shift + F7
(C) F5, Shift + F5 (D) F6, F8
TN ¥ WSS YOAT & e aHd
T e Foll & FAM F gIHE w@hgs
I ¥
(A) F5, F7' (B) F7, Shift + F7 -

(C) F5, Shift + F5 (D) F6, F8
What would be the prefix notation
given equation?

(a+(b/c) *(d"e)-f)

(A) -+a*blcrdef (B) -+fa*/berde

(C) +-a*/"bedef (D) -+a*/berdef
417 equation & prefix notation T gyr?
(a+(b/c) *(d"e)-f)
(A) —+a*b/crdef
(C) +-a*/Abedet |

for the

(B) -+fa*/berde |
(D) —+a*/beAdef

118B - &

118308770

]
™

18308770

T

118308770 T183087//J

\

24,

/Whlch of the following is not a valid Master

view option in Microsoft PowerPoint 20167
(A) Outline master
(C) Slide master

(B) Notes master

(D) Handout master
HIEHITE Tavdrge 2016 # Pyt §
A D UF R ARR 7] ey wE 27

(A) aTSearss Rer  (B) Hrew "mex

(C) T=rse AReR (D) E3armee #ARex

Identify the most accurate statement about the

- application of XML -

(A) XML performs the conversion of

information between different e-business
applications.

(B) XML specify - or
presentation information.

(C) XML must be used to prodice XML and
HTML output.

cannot contain

(D) XML is used to describe hierarchically

organized information.

XML & JudliT & 9R § Fad Fedp AT
Pl YA BR —

(A) XML =1 - sgwarm & 9=

AT BT PR BT T |

(B) XML wRgfiy Sl R am e =7
BN AT & |

©) XML &1 SRM XML 3R HTML
AT & SR & forw fovar o
9ifau | '

Which of the following is Sans Serif font?

(A) Times New Roman (B)

(C) Courier

o 3

ik Rilcar W T Sans Serif fo ?
Times Ney, Roman  (B) Arial

(©) Courjer ' (D)

Arial

@) Gothje -

Gothie



remembers thal her father’'s

’ lqnnrfl}:g;'ltfolﬁwcclllgu, | 6™ June but ul‘l_cr I‘I”'f l‘lnc
whereas, her younger !"’h"“_lm U?ITt_'('”-V‘
remembers that their father's birthday is after
(3™ June but before 18" June and Ahc." cld?r
brother correctly remembers that therr I:ﬂhcr_ 5
birthday 1s on an even date. On ‘whul (I':m: m
June. is definitely their father’s birthday?

(A) Data inadequate - (B) 14"

€y 12" (D) 16"

Fe @ dw W R § [ s e @
=i 16 S R UEd Afd 11 I[A @ ar]
¥ Gt oo e uiE @ ds 9 TE © fh
SFa far & Tl 13 99 © Q. ol
18 S W UEA § AR IS A HIg DI &b
3 ae & 5 o9 U & s=feq s |H
ariE @ el o[ A fea R B FRREa
1Y S A &1 w=e 8?

(A) T Iruai (B) 14

©) 12 (D) 16

A In the following question, certain pairs of
words are given, out of which the words in all
pairs except ane, bear a certain relationship.
Choose the odd pair.

(A) Judgement : Advocate

(B) Enterprise : Success :
(C) Exercise : Health

(D) Crime : Punishment

fF=foiaa ve 4 o=l @ o9 o fiv v
e fAfvaa waw v € o s gH |
(A) f7vi7 - siferaem

(B) T : Aardl

(C) 21U : WRe

(D) 39T [l

% If PxQ means P is the brother of Q, P+Q
means P is the son of Q and P+Q means P is
the sister of Q, then P is the nephew of Q can
be represented as -

(A) p=RxP+R (B) P+RxQ+R
(C) PxR=Q (D) P=R+0Q
7fg PxQ 1 e & P, Q @I W -4 P+Q @
¥ E P.Q® A & Ud P+Q I a1ef § p, (g
@ g £, d1 P, Q &1 Wil &, B AR e
ferar S wwmar £2
(A) P+RxP+R ) P+RXQ:R -
(©) Pxr+Q (D) P+R+Q

118B - X

10.
'

© 3 A Prepg

" (A) Pink

[Fair is called “green’, ‘ereen’ is called ‘red’,
‘red” is called ‘sea’, ‘sea’ is called ‘blue’,
‘blue’ is called *water’ and ‘water’ is called
‘pink’, then what is the colour of grass?

(B) Air

(C) Green (D) Red

afe ‘Bar B B wE W7 & B B AT
®ET ST 8, ‘@I’ ®l AqE wE o
R0 A T B | T v o A T G e e
@E SINT & 8l Ofel &1 Termdl el S
8, 1 °TH &1 37 de e &7

(A) T (B) 7 bt
(C) &1 (D) &fret

Which conclusion can be drawn from the
given statements?
Statements : (A) Teaching is an art.
. (B) Drawing is also an art
‘C'onclusions : (I) All artists are teachers.
(1) All artists know to draw
) pictures.
(A) Only conclusion (1) follows
(B) Only conclusion (II) follows
(C) Neither conclusion (I) nor (1I) follows
(D) Both conclusion (I) and (11} follows
fRT M ol A 1 B W v Pt s
THar g?
B 2 (A) REvT s wen
el R RERS CEIRCHE S
F O TR R
D TN TABR Ry <t e
E | ‘ :
W) @aa fryep (1)

GW ‘ "
(B) Byt b

(D i
A TR ey

(D
w(”aﬁ? (I) g THRUT . o



npleting

' Thi i - the output list after col
3. What will be I pies

first pass of bubble sort on input array
17, 85, 606, 23, 13,577

(A) 27,33, 51,23, 13, 57, 66, 85

(B) 32, 51. 27, 66, 23, 13,57, 83

(C) 32, 27. 51. 66, 23, 13,57, 85

(D) 23, 13, 27, 33. 51, 57, 66, 85

gz 0F 32, 51,27, 85,66, 23, 13,57 IR 99
¥ 57 uer URy gl @R @ QuRTd 3IeyC
foree @ &rfl?

(A) 27, 33, 51, 23, 13, 57, 66, 85

(B) 32. 51,
(C) 32,27, 51, 66,23, 13, 57, 85

(D) 23. 13, 27, 33, 51. 57. 66, 85

Which of the following is used by banking
industry to handle large volume of cheques?
(A) MICR (B) Captcha
(C) Barcode reader (D) Digitizer
T8 T F e Ae) B WA @ forg I
S g1 o A W feaat SwaT faan s

87 _
(A) MICR (B) T
(C) RIS I (D) fefrerssR

. In context of MS-Excel, find the odd one out -
(A) Portrait (B) Scenario Manager
(C) Data table (D) Goal seck ’

T gade & e H ae @1 g B —

(A) gigc (B) Rkl #49R
(C) 121 Ead (D) M& WeH

. In tuple relational calculus Py — P2 is
equivalent to -
(A) Py A= P2 - (B) Py AP
(C) =P, vP; D) P vP: ]
eya RevFd dwadad H P — P &R
% . -
(A) Py A P2 B) Py AP, g
(C) =Py vP2 (D) Pi v Pa

‘ptrdata’ is a pointer to a data type. The

expression *pirdata++ is evaluated as (C++) -

(A) *(ptrdata) ++ (B) *(ptrdata ++)

(C) Depends on (D) (*ptrdata)4+
compiler

‘prdata’ TH STIEEY F @D B | oD

+ptedatat+ @1 Iegiae U TR fEan S

2 (CH++) -

(A) *(ptrdata) ++ (B) *(ptrdata ++)

(C) HHIZeR. W f&us (D) (*ptrdata)++
Hal §

f

39.

{InSQL ............ is an aggregate function.

(A) SELECT (B) MODIFY

(C) CREATE (D) AVG

SQL W ...y ufirie wasr & |

(A) SELECT (B) MODIFY

(C) CREATE (D) AVG

Hacktivism is -

(A) a test technique for an existing internct
infrastructure and to find its loopholes.

(B) gaining access to systems with an intention
(o fix the identified weaknesses.

(C) the act of hacking a computer system, for
politically or socially motivated purpose.

(D) a process of break into systems and dig out
its information and make it public.

(A) AIG[E goxdc @i Ud gHS] @ial @
Wrofs @1 T URIET0T d&-d B |

(B) gl 7 SRl &1 SIF I B RIS
¥ Rred a® ugd g o9 |

() vofas a1 wEifas Jezg @ uRd

RReH P 8 e B B B |

(D) Rixew # WY oA 3R @1 AT U<
WY AASIE 6 ® Ud Gihar|

In relational database minimal super keys is

known as -

(A) Foreign keys

(C) Primary keys

(B) Candidate keys
(D) Reference keys

B o ME AR o e R B R TS s e £ —

41 T

FHETl & |
(A) IR DI (B) dsrec dld
(C) UIsTl B (D) IH=E DI

Consider the following stack implemented using
stack —
# define SIZE 11

Struct STACK

l
int arr [SIZE]:
int top =-1.

What would be the maximum value of top that
does not cause the overflow of the stack?

(A) 10 (B) 8 (C) 9 (D) 11
TH &1 U B wraifaa Frafefaa @@
R fJar w —

# define SIZE 11

Struct STACK

{

int arr [S1ZE);

I l()p =-1;




7

6.

- Which of the following is valid pair of schema,

/e./

B

..

n hil‘lill}’ search tree, i the
e delete, the pew root can
= -
II(EIQW-&;‘TE 1 3 SIS R g, afd rool
3 5 C Hhv - =" . i i = .-:
el & — T Rm Gy, oy A we @

Fool node wil| |

(A) 48 or 50 (B) 30 or 63

(C) 43 or 4y (D) 63 or 81

The first step to the system study project is to-
(A) Describe information needs

(B) Staff for the study project

(C) Announce the study project

(D) Define svstem performance criteria {
Riven w2 doge @ f3v ugen ded & —
(A) =T D SFTHI] BT a0 W

(B) 3rgu= uRarsi @ [ore eoml

(C) Jegy= yRATST & wigen o

(D) ved vgeE #Fes afmfaa ax

change statements in SQL?

(A) DELETE, ALTER (B) DELETE, ¢

UPDATE
(C) DROP, ALTER (D) DROP, UPDATE

371 # 3 @1 SQL W <@ URads o

@1 Sfd g™ 87 , '

(A) DELETE, ALTER (B) DELETE,
UPDATE

(C) DROP, ALTER (D) DROP, UPDATE

In context of memory card. SD and MMC
stands for -

(A) Safe Data, Mega Memory Card

(B) Safe Digits, Multimedia Card

(C) Secure Digital, Multimedia Card

(D) Secure Data, Memory Management Carg
T TS @ W A SD el MMC &1 arragy
g —

(M) I grer, M {R) @

(B) 9w fefored, wedniifsan @

(C) frar (efored, Adiiifear wg

(D) e STE1. TR e gy

C

11

x
88 .

®
§>®® |
O OO OO O

Y

l
|

29.

-

31.

32.

iali iew in RDBMS, we
To maintain materialized view in

L (B) Pointer

(A) TelRBrs (D) None

(C) Clone objecl i it 5 2

RDBMS # eI ihmﬂ"”m A g &

Bre o g [ R ES

(c{j)qr oaer ([FTR) (B) Pointer (dfger)
Trngger Uk e )

(C) Clone ”Ei'-'?" (D) B3 &

(i1 aifestae) o o
Which of the following VieW 1S IT‘{&Ih}) suitable
to rearrange slide in MS-PowerPoint!

(A) Normal (B) Slide Show

(C) Slide Sorter (D) Notes Page

uH.g TR dige A sy 1 qAEaRed

o @ o T SwgEd 9 e i @

1 8? -:-"::

(A) e (B) Wiz o

(C) wirgs ey (D) =irew T

In context of information gathering. ranking

scale questions ask the respondants to -

(A) Mark a level of satisfaction on a given
scale

(B) Rank list of items in order of importance
(C) Say Yes or No

(D) Choosc one among given answer choices

T AR & el #, hu e wzm o

STRGTAT 3 BT AR & —

(A) fen 1t 99m R wgie &1 wR fafeg
&HRA B foru

(B) =g A @ Swifar & wma F s
A @ ferg

(C) & @ =1 wes) & forg

(D)ﬁnwwﬁﬁm‘iﬁﬁwﬁaﬁ;m

Il SQL command DELETE FR

- - b . 0
EMPLOYEE; is cxecuted on rclmif)\:
El’l\*lPLOYEE having *n’ wple in it. .

will be deleted from relation LMPLOYEE ----

(A) Zero wples

(B) All *n’ tu ]
(C) Only first tuple ;-

(D) Only last tuple

' THE Al Re¥F EMPLOYEE R afe
SQL @S DELETE FROM EMPLOYEE
Franfes & vy & @ EMPLOYEE ﬁ“am:;

(A) T avq (B) Inft ‘v eysy

(C) Bt vor cqg () HIE 3 ey



q 1 .
dentify the
oldest
/u\.ctl by hac Phone |, acking technique

F
3. \\’]ugh one of the follow;j

45

Kers 1o m
(A) Spamming
(C) Phishing

(D) ¢ racking '
qad ‘F@ RRE| bmﬂ‘l Tafas g9 v ﬁ

iﬁw ST a wie we B ferg

(A
(C) fsfIrr= “%

ake free eqlig?
(B) Phre: itk ||'ll.

(B) wiyfasy
(D) wfay

ing is usually uscd in
the process of Wi-fi hacking? .

(A) Air

() Norhn.
ufeha %ﬁ?n 27

(A) Airc@®k — ng (B) Wireshark

(C) NorQn (D) SwRTaT T
Which of the'following database object dog_s
not physically exist?
(A) Base table (B) Index g
(C) VieE (D) None of the above.

q%‘cﬁﬁwmm
Hifgs TH4 Hivg & &7 ' :

yk — ng (B) Wireshark

(D) All of the above

b

(A) T= (B) geeRT 2
(C)EL'T— (D)miﬁ#ﬂﬁl,
What is the outcome of the prefix express.l(ﬁ“}
4, *,%2.1.8.4,17 o
(A) B> (B) 4 () 11- s
RS i
L ESH 4 -, ¥ 302, 184 Eal
uf¥vm ¢y €7
w 1® @ 4 © 11O 5 |

46." Which OfThe following is not a super key ina

. relational schema with attributes V, W, X, Y

.Z and primary key VY?

(A) VXYZ (B) VWXY

(C) VWXYZ (D) VWXZ
Frefafga @ & @ gigEe vV, WX, y
7 sfr safie o et ae e
THAT H GIR Dl TEl 87

(A) VXYZ (B) VWXY

(C) VWXYZ (D) VWXZ

U B Wi-Fi hacking. ﬂ?
f‘

47.

48.

What will be post order traversal of a binar,
Tree T. if preorder and inorder traversals of T
are wiven by ABCDEF and BADCHE
rcspc;tivcly'?
(A) BFDECA
(C) BCIFDEA
wF aEEd @ T @l uRe 3SR ,ﬂ??‘T i
erm, oty T @1 WSy e SAdsS? CaHT
e ABCDEF @2 BADCFE 7

(A) BFDECA (B) BEFDCA

(C) BCFDEA (D) BDFECA

Which one of the following is not a softwarc

(B) BEFDCA
(D) BDFECA

process model?

(A) Prototype model  (B) COCOMO model

(D) Linear
model

f=faaa § 9 o9 1 Ue AUedaR W

Hisal T8 7

(A) UicTergy Aise

(C) rsRe Hise

(C) The spiral model sequential

(B) el AlSa

(D) iR Fawifdme
Arsd

Which testing focuses on ﬁeavﬂy testing of

one particular module?

(A) Fuzz testing

(C) Inter
testing

FH W WST w RIY degw @ awa

Fferes SREST W Hivga 27

(A) w1 efeeT (B) gor 2R

(C) gv=x few 2R (D) MRem e

A RAM chip has a capacity of 1024 words of 8

bits each (1kx8). The no. of 2x4 decoders with

enable line needed to construct .a 16kx16 RAM
from 1kx8 RAM is —

(A) 7 (B) 4 (C):'75 D) 6

(B) Breadth testing
system (D) Gorilla testing

U RAM 9 @1 eem 8 bits(1kx8) & 1004
=T B ERN B 1 1kx8 RAM 31 16kx16 RAM
=™ & o v wem RIEEERIN
fePp1er a1 <y & —

(A) 7 (B) 4

x4

€ s o ¢



8. How many slzl!cﬁ can |

—

w _ -
¢ processed in

operating system?
(A) 2 (B) 4 ©) 5 (D) 3
T - e 1 [hos we ‘ :
%qu'ﬂ:‘m Riest 3 [0 Re avae we g

(A) 2 (B) 4 (C) 5 (D) 1

59. An INT file in Windows 95 is -

0.

7

(A) A program file (B) A message file
(C) Link tile (D) A text file

fiera 05 @ um INT wigdsl 8 —

(A) U@ R oigel  (B) UT WA WIS
(C) & wisd (D) U ST Wi

In Excel 2016, if you want to insert 3 columns

between Column G and H you would -

(A) Select calumn E. Fand G and right click and
select insert for three times

(B) Select column G and right click and select
insert for 3 times

(C) Select column H and right click and select
insert for three umes

(D) Select column D, E and F and right click and
select insert for three times .

Fre™ G 3R ljzr‘; —«frriﬁ‘—r

(B) 5term G Rayge w3 3R wge fad®
v & ar gae Raciae YT
(©) wie H fadge oo o ge, faws
(D) wiem D. E 2w I Riede &3 SR e
frea @@ A9 AR g¢ ferde o
Network layer firewall works asa-
(A) Frame filter (B) Packet filter
(C) Both (A) and (B). (D) None of these
Hvdl & |
(A) g fireeR (B) tge fheex
(©) ZFi (A) 2tz (B) (O) T & wg AT
. The information that gets transformed in
encryption is - '
(A) Plain text (B) Encrypted text
(C) Parallel text (D) Decrypted text

efspar A TR B Al SEE

14 {
(A) T TS (B) uf5reS TRE
(C) verel TRT (D) fefres CRe

63. Choos¢

64.

65.

(D) Finalize() is

e as final, the valu

Lt l:: mmliﬁcd in final
of the
method.

(B) ITa metho (
cannot be overr

(C) If a class 1S decl
inherited. IF you

A ile-time error. gy ich 1s
compil ; mclhnd of java. whic

ollector thread belore
e memory.

i ) aps
.. Jeclared a8 final. that me il
5 declh Al

b dden 10 sub class: i

qred final. it cannot be

‘:ln so It will give you

\ sarbage €

(r'::rl:f:in::; 11%1 I(r1i'lj:::<:1 from th

arera e Bifed —

(A) zify g frdl var
$ 4 variable Al
modify faT ST T &l

(B) iy fopdl mclhnd?ﬁ final afae fear T
# o 349 method 1 subclass ¥ override
& fasar o Al © |

(C) afy el class @1 final wifee far STl
¥ v g9 inherit  TEl frar <1 Hhdl |
afe aig Y Hd §, A1 U8 compile-time
error éTITI 3

(D) Finalize() ST @1 method &, oI AR
SREEIICIESES @1 §eM ¥ Ugdl garbage
collector thread &R call fam Srem 21

INhe covevieinennns encoding scheme, each 24
bits become four 6 bit chunks, and eventually
are sent as 32 bits. 2

(A) quoted — printable (B) base 64

(C) binary _ (D) 8 bit

6 fae @ a7 WK § 3R aide: 32 e & wy
H o oI 2 | :

(A) quoted — printable (B) base 64 .
(C) binury (D) 8 bit

What are the forms of password cracking
techniques? '

(A) Attacksyllable (B) AutackBrut forcing ‘
(C) AttackHybrid (D) All of the above
qIae i a@ie & ©Y @y 87

(A) arcwmiderae (B) ardwpae IR
(C) arcwersfas (D) TR Tl

able @1 final enfad &<

value @7 final method Y

Mo




v _ﬁ\s.\.umc that p and q are non-zero positive
;i"l:llttl[l‘clilkl the following program segment will
\l.\’hilc (p!=0
11 (p>q)
P=p—:
else
.lI:q"I\L

print("%d™ p)

(A) Compute LCM of the given numbers

(B) Subtract small number from large number

(C) Compute GCD of the given numbers

(D) The loop will mn infinitely

@ o AR q IR—Y UERETS P

& Ay om Es usYE BN -

While (p! =0)

{ :

If (p>q) .
P=pP—q.

clse

q=q-p:
printf(**%d"”,p)

(A) 1 T ARl @ LCM @ U SR

(B) a1 Tl W WISl W&l Bl U

(C) & T W=l @ GCD &1 o e

(D) 9T infinite TR AT

Which statement is/are true about Exception

handling? ) _

i There can be.try block without catch block
but vice versa is not possible.

ii. There is no limit on the number of catch
block corresponding to a try block.

iii. The object must be created of a specific
class of which the error has occurred
otherwise runtime crror will occur.

iv. To execute a code with each and every run
of program, the code is written in finally
block.

(A) i and ii, iv (B) Only iii

(C) ii and iv Only (D) Only ii ‘

Exception handling @ @R A wiar /e

Wl ® /27 M )

. catch block @ faT try block &1 il 8

S gas faudd W1 el Bl

i, [ g ry hluckﬂ"» fere a1 *11 catch
ock BT W@d T G

iii‘.ﬂﬁ’m Sitesrae W QRY SR g3 & 99 Su@)
Sfée germd @ aq%m ST IRy e

X 7 O MY ; .

iv ﬁgﬂej‘gﬁ &1 ST & TP X1 & I

execute T @ fare, @re @1 finally <l®

3 feran SIdl ® |

(A) i afi® ii, iV

(C) @rac i aflR iv

(B) gvddl iii
(D) &ad i

0

=

(18308770 1183087

118%82770

53. In Artificial intelligence (AI) which

deals with happy and unhappy state? e
(A) Learning agent '
(C) Simple
apgent
anféintirre geforiw T IR
% ' s fﬂ\[] H b+ >
ol oY ary Re 3w 22
(A) w1t Toie (B) tifza aws wore
©) Rivet  Resaai(D) gfefird avs wie

(B) Madel based agent
reflex (D) Utility based agent

%{j}% A qq—iEiJI ft
g ST al s o e . .
3 culhl:-]d - Oltware to create a job queue is
(A) Spooler (B) Linkase ecl;
' -inkage edit
(C) Drive Ef eIy

(D) Interpreter
T’;% farety wivedsR S Wi @7 frve @war 2

(A) TqeR (B) Rigst ez
(C) gred (D) gexiues
5. Which of the following statement contains an
error?
(A) Select empid where empid = 10009 and last
name = ‘GELLER";
(B) Select empid from emp:;
(C) Select * from emp where empid = 10003:
(D) Select empid from emp where empid =
1006
a9 e o= F e &7
‘(A) Sclect empid where empid = 10009 and last
name = ‘GELLER":
(B) Select empid from emp;
(C) Select * from emp where empid = 10005;
(D) Select empid from emp where empid =
1006;
Which of the following is not a valid file

extension of an audio lile?

(A) .mid (B) .wav

(C) .mp3 (D) .rar

foret 9 9 @ |1 g SfifsA wigar & Stea
HIEH TSI w8l &7

(A) .mid (B) .wav

(c) .I'I'lp3 (D) rar

Which of the following is a combinational

logic circuit that has 2" input lines and a single
output line? i

(A) Multiplexer

(B) Dec
(C) Encoder ) Decoder

| (D) Demultiplexer
: ﬁﬁ%{ﬁ‘gﬂ AW B T SIRENTE offiTs
WliT & RFf 2" gTge e sk R
(A) ﬂ?cﬁ;{?mm%?
< (B) f$ehIeR
(C) TdTR (D) %WTE-\?F{T{



¢ printer and PAg®

the . \
ollowip g gre 1N
" ng are
(A) . L‘\[‘L‘Cli\'ch,-, ’
Iy p..: i
(8) i8¢y |I "ter Lager Printér
finter, Doy — Matrit

. ";“L‘r |
(D) g finter, Chain Printet

primter

m P
ﬁqu 3 -“ p_“'"'"- Band Printer o
&? DI sy g e T fieR

A) 1 ey AR
& ud ol Hel
(C} STy Rex, Sfe—ifRa Miev
(C) Sy ez, 39 fiex

©) 39 ez oz fex

67. R
Which is no 4 type of NoSQL?

(A) MongobB (B) QBase
(C) CouchDB (D) HBase

P % @ @9 1 NoSQL & Wi el &7
(A) MongoDB (B) QBase

’ (C) CouchDB (D) HBase
Find x = ? If (356)5 = (X)16

(A) A8 (B) EE (C) 7E (D) EA
FTd HIRT x = ??Jﬁ‘ (356)8 = (x)16 _
(A) A8 (B) EE (6) 7E (D) EA

69. 'In C. what are the various types of real data
type (floating point data type)?
(A) [loat. double, long double
(B) long double, short int U 15
(C) foat, long double .

(D) short int, double long int, float

o' H fafi= gaer @ real data type (floating
point data Lype) HY BY

(A) float. double, long double

(B) Jong double, short int

(C) float, long double

(D) short int. double long int, float

What will be the output of the following in
MS-Excel?=LCM(5. 7. 35)

(A) 70 (B) 35

(€) 12 (D) 1225
R W =LCM(5, 7, 33) @1 $fecie
BT — '
(A) 70
(C) 12

(B) 35
(D) 1225

71.

72,

The test levels are performed in which of the
following order?

(A) Unit. System, Integration, Acceplance

(B) Unit, Integration, System, Acceplance

(C) Unit. Integration, Acceptance, System

(D) It is based on nature ol the project

qferor wer (rifataa 0 9t wme A
ST 27

(A) gfere, Ren, $Emem, g

(B) 7fre, 3T, R, wrae

(C) gfre, SEITF, Taae=g, Rres

(D) 7 ufRersTHr @b agptar w2 amenie 2

In decision table left-lower quadrant is called-
(A) Action stub (B) Condition entry
(C) Action entry (D) Condition stub
i el - T TR

HEITdl 2 |

(A) TR T2 (B) S T

‘In context with Relational Algebra, which of

the following are Unary operators”

1. Select

‘2. Project

3. Union

4. Product

“(A) 2 and 4 only
“(C) All are binary

(B) 1 and 3 only
(D) 1 and 2 only

e demfE @ wal famfariaa
F IR T e 87

1. fRyeree

2. T

3. gfTa

4, yreqe

L () et 2 U4 4 (B) et 1 Ta 3

" Which

(D) ®at 1. a2

software

(C) ¥t arg T ¥
one is measure of
complexity”’

(A) Number of lines of code (LOC)
(B) Number of man years

(C) Number of function points (FP)
(D) All of the above

BIF T WTCRR FAfeerr & mud &?
(A) BIe BT ufed ww=m (LOC)

(B) ae+l wmer &t =

(C) wawr fa=gaii @ %@ (FP)

(D) Sy il




i : alters
5. ... is malicious software that alter
the regular functional

14 e
control on the targeted system and nets as tl
system administrator on the vietim's system.

(A) Rootkit
(C) Spyware

ity of an 0S8, takes full

(B) Virus
(D) Trojan horse

e, T NIRRT Wiy 2, oy el OS

o e emtermar

Rees wR el e @, difsg @ ReT IR

R gefifngey o)
(A) Rootkit

) Spyware
5. Which of the following

W aue 2 ¥, TRIC

Wil el wwar |
(B) Virus .
(D) Trojan horse
¢-mail protocol is used

o move messages through the internet from

source to destination?
(A) POP
(C) SMTP

(B) UDp
(D) IMAP

B A @ 3 W {3 vt s &

AE E HeIl B || |

A Y9 B 87
(A) POP
(C) SMTP

/ k‘:}r =

of attributes that unig
in a RDBMS table.

Consider the following statements

T a0 Elg eI

(B) UDP
(D) IMAP £
rcg}aﬁﬂin g

(I) A super key is an attribute or combination

juely identifies records

(IT) A candidate ke

yisa su_iqsel of a superkey.

(D) All super keys are candidate keys but'vice:

Versa 1s not (rue.
(A) Only (11 is true

(B) (1) and (119 are true
(C) () and (111) are true

() Only (1) is true !
Key & e 3 Fr=fofag s W R
[37) -_—

(I Supe; key U% a1 U ¥ aifers attributes
DT WA & S RDBMS (able 3 Reprsy
G unique YEIH Hd if §

(IT) Candidate key, super key @7 e

SUNTE g |
(1) ¥nf1 Super keys, candidate keys Brf} &

ot Ipfy candidate key « '
71T ‘ ¥, super keys &
A I yS F e

(A) Faer (11) gey 2
B) (1) aix () T weg @

C) (1) &R (1) g aq &
®) graer (1) wew @

14830877

2118308770

118308770

11830877k

1re -- 'i[U; le
s tiip loader program is situated
A tiny bootslr
in - -
(A) Hard disk
(C) BIOS )
U 2314 G (4 QL’.U.'
(A) Hard disk 5
i " hich every non-key ;mnl).mt_. e
etic ‘Tllr dependent on the primary
a ?ﬁ no transitive dependencices

(8) ROM

(D) Nonce of these
e YITH FJI::IE\-I g -

(B) ROM #

(D) 5-:{1'? H IS 8]

A relati .
fully function
key and which h
is in -

(A) ANF L
(©) 5:\IF () 3h

e Rerere RRwi gelid FH-P1 T g

wu W gRifte gell TR WAEET 3t/

(Frfean) T &, . B BT E |
(A) 4NF (B) BCNF
(C) SNF (D) 3NF

Which of the operations constitute a basic set
of operations for manipulating relational data?
(A) Predicate calculus (B) Relational calculus
(C) Relational algebra (D) None of these

IR, aifodersy ma\amwwm
3
B

(R) 9fSade deramay B (B) Revmer detarery B

() Retemar wersyay D) 5% ¥ &1 =&

Match the following =
d 6 o

List - 1 (g 1y

(2) DDL

(b) DML

(e] FEL,

(d) Binary Operation

LiQt <11 ['“\Iih_ Il
() LOCK TAp g

(ii)COMM[T

iii) Natury] pigy

(iv) REy O | once
(A) 5
(B).

E:

X



82. A Couny; v

n ‘e
Then > I)g SeMaphore

VIS Fraies
S Wy YOS it
OPCrationg yarm ) OPeratioy ized g g,

; vere ¢q Sand 7 v,
1€ resyly; n mplege | . [stgnal)
(A) 5 Hting valug of Nt‘l:‘na:;:;ulal:.:.k.“"”‘“I"‘"H‘t‘-,
©) | B) . 18 -
el , (D) 3
A Countipg SCMaphayy T
(si N 'IE ::“;nR. Y initializeq fasy
Stgnal) affyers M) A gy
& HTF\:T‘TWIE;Q’I "‘omi"l"'llnl:: l]"q §]Trli 7_\(1
SR H P, g : th
value gnf} — il Semaphore a8
(A) 5
= : (B) 4
83 E:f: 'I~ ] e Pc?"
es- - v uch of 1the following declarat: -
' mcecorrect in pyvthon 'ilﬂﬂlméc? aralions (4]
(A) xyzp = 5.000.000 = 2
B) « ! =5
Ec; N ¥, Z.p = 5000. 6000, 70/, 8000 €O
X¥zp = 5000 6000 7000 8000 DT
L

(D) X_¥_z_p=35,000.000

T -

language 5§ H& T &2
(A) xyzp = 5.000.000 ™~
(B) x. v, z. p = 5000. 6000, 7000, 8000 '&5
(C) xyzp = 5000 6000 7000 8000 QD
ISP

0

oy python
()

(D) x_v_z_p =5,000.000

Which of the following statement is/age

incorrect with respect to abstract classes? ~—

1. Subclasses of an abstract class that do not
provide an implementation of an abstract

method, are also abstract,
1. Constructor and static methods cannot b
declared in abstract class. . _ .
li. Sometimes we can create objects directlgg
iv. A method must always be redefined in ad
subclass of abstract class.
(A) i ii and iv (B) ii and iii
(C) ii and iv (|_3) i and ii
" Abstract classes @ <ge ‘ﬁﬁﬂoii@ d "9
FHH-AT/ A @I e 58 ™
i. il abstract class @1 subcluss ST ilhh‘ll'iﬁ
cluss @ Herg @I implementation euu&r 0
& @rdl ©, dE W u@ abstract 81dl €€
ii. Abstract class 7 constructor 3?]? “.stuuc o)
method =T el ch il ﬁ'b_ﬁ g ‘ E‘F
iii. F§—anf g9 e 3ffesrae 'ﬂlmﬂf d e
iv. TF5 abstract class 1 subclass ¥ method
.Eﬁtl iy g e ST Tifeu |
(A) i, ii 3ll¥iv (B) i N iii
(C) i 3R iv (D) i 3R i

770

1183

1ap

! 87,

)‘:(. In context of MS-Word. fill in the blank -

“Create i R TR O assign a4 name o u
specilic point in a document™.
(A) Bookmark (B) ClipAnt

(C) Hyperlink (D) Cross-reference
LU -T2 & Fol ¥ Rag wm o e
Y — '
T Strpte § om Bfire By @ e
@ forq . e

(A) qemren (B) fazrr 3
C) emwfers (D) wiT—yw

 Which of the following is not rel
of animation?

(A) Quick time (QT/Moov) (B) MPEG

ated to format

L.mpg)
(C) Flic Format (FLI/FL.C) (D) Amiga (SGI)

771 3 & o @ of e $ v § e
el 87
(A) Quick time (QT/Moov) (B) MPEG

i (.mpg)
€) Flic Format (FLI/FLC) (D) Amiga (SGT)
Which of the following memory is used to

minimize MeMmory-processor - speed
mismatch? .

(A) Cache memory  (B) UVEPROM

(©) DVD {D) Flash memory

T & o W, SRR 7 T
ST 1 JATH HRA ¥ Gaw &l 27

(A) e HHI (B) UVEPROM
(© DVD (D) wew R

88. Which of the following statements is/are true

regarding JAVA?

A. Constants that cannot be changed are
declared using the *Static’ kevword.

B. A class can only inherit one class that can
implement multiple interfaces,

(A) Ais true

(B) B is true N
(C) Both (A) and (B) are true

(D) Neither (A) nor (B) is true
JAVA & ey ¥ my=itafag 6 g DI/
e S 8
A BIee R aea 8 o e o
WIed BT H1 ST B R fpay
SITET & |
B.wﬁi'féﬁawﬁﬁﬁ‘éﬁe R
g, VIl ¢ m ‘ﬂ-m—d-l-
(A) A wd) & LR &
(B)B v &
(g) ST (A) 3R (B) Wy §
( )ﬂ(Alﬂ'&-‘T%&{"r\rma (B) W&



a9,

Q0.

Z[

(C) The number of hops this packet can

T

Commuand 1o
ascreenshol ¢
(A) Window Key + Alt 4+ X

(B) Window kc-v + '(‘trl +4§

(©) Window kc-)- + Silil’[ -l-‘ S
(D) Curl + Shift + K \
T W

command & —

(A) Window key + Alt + X

(B) Window key + Ctrl + S

(C) Window key + Shift + S
(D) Curl + Shift + K

L

An IP packet has arrived with the first 8 b1}1'~‘. as
01000010. Which of the following is CL;;I_T'BCI?
(A) The receiver rejects the packet

(B) The total no. of bytes in header is 16 bytes

15 2

(D) The upper layer protocol is icmp

v [P Packet TESll 8 bits, ST @ 01000010 2.

@ g e TIl ¥ W P A ade?
(A) erar tave @1 IRATHN HT 8.
(B) =X H Tl bytes BT FEAT 16 bytes &

tC)wﬁézﬁmﬁfmaﬁmmmw%

qGEE 2
(D) FHu<l layer Protocol, ICMP g
In MS-Word *Gutter’ is related to -
(A) Margins (B) Equation .
(C) Orientation (D) Page size
wuE—as # ‘Guuer' fHaw wafer 87
(A) wIfST=a (B) geer
(C) siffRu<eH (D) 951 IS
Which of the following is not a first generation
computer? '
(A) ENIAC (B) UNIVAC-I
(C) IBM-701 (D) PDP-11

frep 4 O @ @ g did) @ BRRYER T

27 .
(A) ENIAC (B) UNIVAC-I
(C) IBM-701 (D) PDP-11

open Sninn;
II'[n I""Ipp",g tool menu to take
nly a section of youis Bareit -

MO T TS P RW) 1 @
@ T Snipping (ool e e @ R

N
travel
| "

Y

93. A blackl

oleina DFD 15~

(A) A data store with only in bound flows

(B) A data store with-more th
flow

(C) A da

(D) None of these

pID 3 T @ Tl Bl 2 —

(A) T e g @R o Wasl el e
BT

(B) U 3 Afrd drSS Feil Al T WR

(©) v 1 FeT WK RRH B A T
TE

(0) g} & T A

an one in bound

ta store with no in bound flows

. The correct statement regarding WiFi and

Wi-Max technology isfare —
. (I) WiFi uses radio waves to create wireless
connection, WiMax uses spectrum (o
deliver connection.

" (II) WiFi is defined under IEEE 802.11x

standards. while WiMax is defined under
IEEE 803.16y standards
(I1I) WiMax covers comparatively larger area
than WiFi.
(A) Only (1) and (I1I) = (B) Only (I) and (IIT)
(C) Only (IT) (D) (1), (1I) and (TIT)
Wifi 3R Wi-Max Ga1% & ey o Fal
T B/ 8 — s
(I) IRReTH Hae 991 @ fole WiFi
AT AR BT IUANT FRaT &, WiMax
TG 9 B AV WagH BT ITART
.l. r % I
(ID WiFi @1 [EEE 802.11x wF®1 & agd
miﬁﬂ fean R, Srafes WiMax @1
‘EE 803.16y M®T & agd afqifig
fanar T &) :
(1) WiMax, ‘:Vi‘Fi. N Yo W qorTeTE
WA AY &R B e ey
(R) 3= (1) iR (1) (B) gy '
et (1) 3R (1)

©) 7
I (11) ®) (0, (my 3R (1

———



5. C ‘

! hooge lrue Statermen

I - Bj :
nary e,

. Y seare)y is faster th

- Bln:lry Search m

the inpyy lists op
applied,
(A) Only |

an line;
ay not e ¢
Y ot be applieq on all

which |i
hich lincay Search can he

ar search,

(B) Only
" ' nly 1|
3oth | and |1 (D) Neither I nor 11

wmﬁﬁma—‘*
_‘i_-—‘ﬂ_tﬁ?ﬂ Qﬁ,ﬁﬁm?ﬁi‘qﬁmﬁﬁm
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In FTP, there are three types of
stream, block and compressed.
(A) file types (B) data types

(C) transmission (D) None.of these

modes
FTP #, WR" T i stfeam,
bhlnck afR compressed & |
(A) Trgel erE (B) ST <
(©) crafier drgw (D) ST W @I T

Check sum is used for -
(B) error detection

(D) None of these

(A) error correction

(C) Both (A) and (B)
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(C) ClipArt

100.

[.B are UB are lower bound and upper bound

of a linear array LA. Consider following

algorithin - &

|. Repeat for K = LB to UB apply PROCESS
o LA [K]

2. Exit

The algorithm

'
.

.............. the array LA.
(A) merges (B) traverses

(C) sorts (D) searches
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“14 Repeat for K = LB to UB apply PROCESS

- toLA [K]
2 Exit :
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Decomuve lm.l ln MS-Word document ; '1\
called -
(A) Bookmark (B) SmartArt

(D) WordArt
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.Which_of the following methods will create
“string in Java? _
1:String § = “Hello Java™,
AT+ String S2 = New string (“Hello Java™);
(A) Only 1 (B) Only I
(C) Both Land 11 (D) Neither I nor [1
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I:Sting S = “Hello Java”

IL.: Slring S2 = New string (“Hello Java™);
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